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	0,673 46 km = …............................cm
0,45 m = .........................................mm
98 000 m2  = …................................ha
8,008 dm = …................................cm
0,003 57 km2  = …...........................m2
1,2 m = ….......................................km
0,638 9 dm2  = ….............................km2
0,096 mm = ….................................cm
845,2 km = ......................................m
1 m = …...........................................km
0,545 708 km2  = ….........................a
0,99 mm = …..................................cm
0,008 3 m2  = …..............................dm2
90 ha = ….........................................a
600 m2  = …....................................cm2
700 km2  = …...................................m

	
	76,703 g =......................................mg
0,45 dm3 = .....................................l
29,4 mg =  ….....................................q
55,001 dkg =…................................t
306,945 mg  = …...........................kg
1,02 l = ….......................................ml
85,5 g = …..................................... kg
0,096 m3 = …..................................dl
845,2 hl = ...................................... m3
0,859 231 kg = .................................mg
0,000 008 km3  = ….........................dm3
0,99 h = …..................................mim
0,0083 hl  = …...............................ml
90 mim = ….....................................h
600 s  = ….................................... min
360 000 s  = …..............................den

	




